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ENGLISH VERSION

Instructions : (1) Figures to the right side indicate marks.

(2) Show necessary calculations as a part of answer.

1 Division A of a manufactures company has a budget of 20
selling 2,00,000 units to fetch a return of 25% on the average
return employed.

The particulars of division A are as :

Particulars Rs.
Fixed overheads .......cccocoouvennn... 4,00,000
Variable cost per unit..................... 1.00
Fixed assets....cccoovvvieviiiineiiinnnnn, 4,00,000
Current assetS......coevvvevvveneennnen. 8,00,000

There is constraint in marketing and only 1,40,000 units
can be directly sold to the market at the proposed price.

It has been gathered that the balance 60,000 units can
be taken up by division B. Division A wants Rs. 4.50 per unit
but Division B prepared to pay Rs. 2.25 per unit. Division
A has another option in hand which is produce only 1,40,000
units of this will

(1) Reduce the holding of fixed assets by Rs. 1,40,000.
(2) Reduce the holding of stock by Rs. 80,000.
(3) Saving in selling overhead by Rs. 40,000.

You use required to advise that can Division A transfer
60,000 units at Rs. 2.25 per unit to the Division B or not.

OR
1 Division 2 is a profit center which produce four products 20

A, B, C and D. Each product is sold in the external market
also.

Data for the period is as follows :

Particulars A B C D
Market price per unit (Rs.) 140 | 136 | 150 130
Variable cost per unit (Rs.) 120 90 | 100 85
Labour hour required per unit 3 4 2 3

Product D can transfered to division Y, but the maximum
quantity required for transfer is 2,500 units of D.
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The maximum sales in the external market are :
A : 2,800 units
B : 2,500 units
C : 2,300 units
D : 1,600 units

Division Y can purchase the same product at a slightly
cheaper price of Rs. 125 per unit instead of receiving transfer
of product D from division 2.

What should be transfer price for each unit for 2,500
units of D, if the total labour hour's available in division 2
are :

(1) 23,000 hours
(2) 32,000 hours.

2 K. K. Stores of Rajkot has a branch in Washington 20

(U.S.A). Its currency is U.S. Dollor (§) :

Particulars Debit (§) | Credit ($)
Head office account . 42,000
Purchases / Sales 1,57,800 2,22.000
Stock (Date : 1-4-2020) 25,500 -
Debtors / Creditors 6,840 6,000
Cash / Bank 4,000 700
Computers (Purchases on 1-10-2020) 6,600 -
Furniture 1,500 -
Building 5,100 -
Financial expenses / incomes 3,360 18,000
Salary of employees 24,000 -
Office expenses 12,000 -
Sales promotion expenses 42,000 -
Total 2,88,700 2,88,700

Additional Information :

(1) The closing stock at branch was valued at 36,000 Dollor
($). The debit balance of branch account is Rs. 23,52,000
in the books of head office.

(2) Calculate depreciation @ 20% on computers and 10% on
furniture and building.
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(3) The fixed assets at the branch were purchased on
1-4-2020.
(4) The exchange rates are as under :
Dt. 1-4-2020 1 $ = Rs. 48
Dt. 1-10-2020 1 $ = Rs. 50
Dt. 31-3-2021 1 $ = Rs. 56

®)

revenue expenses and revenue incomes.

Head office has considered average exchange rate for

Prepare Final Accounts of branch in the books of Head Office.

OR

Gopinath Stores of Rajkot has a branch in Japan. Its 14
currency is Yen (¥).
The following i1s the Trial Balance is as on 31-3-2021 :
Particulars Debit (¥) | Credit (¥)
Head Office Account - 10,00,000
Purchases 14,25,000 -
Stock (1-4-2020) 1,95,000 -
Debtors / Creditors 51,250 50,000
Cash / Bank 7,500 -
Fixed assets (Purchase on 1-4-2020) 2,00,000 -
Sales - 10,00,000
Administrative expenses 75,000 -
Selling and distribution expenses 75,000 -
Financial expenses 21,250 -

20,50,000 | 20,50,000

Additional Information :

Closing stock was valued at 10,00,000 ¥. The debit
balance of branch account was Rs. 4,00,000 in the books of

head office.

The Exchange rates are as under :
Dt. 1-4-2020 100 (¥) = Rs. 39
Dt. 31-3-2021 100 (¥) = Rs. 41
Average rate 100 (¥) = Rs. 40

Prepare Final Accounts of branch in the books of Head Office.
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3 Jay Ltd. purchased a machine costing $ 80,000 from 15
Ronald Co. made financial facility for Jay Ltd. in form of
Loan. The Loan is repayable in five annual equal installments.

The exchange rates are given as below :

Particulars Dollor ($) Rs.
At the time purchase (T) 1$ 62.00
At the end of first year (T)) 1% 65.00
At the end of second year (T,) 1$ 61.00
At the end of third year (Ty) 1$ 64.00
At the end of fourth year (T),) 1$ 64.00
At the end of fifth year (Tj) 1$ 63.00

From the above information, calculate the balance carry
forward of fixed assets T, Ty, T3, T, and Ty for every year
as per AS-11.

OR
3 (1) Discuss the importance of Forex Accounting. 15

(2) Explain difference accounting method of Foreign
Currency Transaction.

4  Write short notes : (any three) 15
(1) The need of Indian Accounting Standard
(2) Generally Accepted Accounting Principles (GAAP)
(3) International Financial Reporting Standard (IFRS)
(4) Indian Accounting Standards (IAS)
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